

Multiply by 10^{-1} (E)

Find each product.

$$62 \times 10^{-1} =$$

$$11 \times 10^{-1} =$$

$$80 \times 10^{-1} =$$

$$65 \times 10^{-1} =$$

$$92 \times 10^{-1} =$$

$$50 \times 10^{-1} =$$

$$84 \times 10^{-1} =$$

$$26 \times 10^{-1} =$$

$$71 \times 10^{-1} =$$

$$35 \times 10^{-1} =$$

$$84 \times 10^{-1} =$$

$$95 \times 10^{-1} =$$

$$7 \times 10^{-1} =$$

$$60 \times 10^{-1} =$$

$$86 \times 10^{-1} =$$

$$12 \times 10^{-1} =$$

$$66 \times 10^{-1} =$$

$$56 \times 10^{-1} =$$

$$90 \times 10^{-1} =$$

$$82 \times 10^{-1} =$$

Multiply by 10^{-1} (E) Answers

Find each product.

$$62 \times 10^{-1} = 6,2$$

$$11 \times 10^{-1} = 1,1$$

$$80 \times 10^{-1} = 8$$

$$65 \times 10^{-1} = 6,5$$

$$92 \times 10^{-1} = 9,2$$

$$50 \times 10^{-1} = 5$$

$$84 \times 10^{-1} = 8,4$$

$$26 \times 10^{-1} = 2,6$$

$$71 \times 10^{-1} = 7,1$$

$$35 \times 10^{-1} = 3,5$$

$$84 \times 10^{-1} = 8,4$$

$$95 \times 10^{-1} = 9,5$$

$$7 \times 10^{-1} = 0,7$$

$$60 \times 10^{-1} = 6$$

$$86 \times 10^{-1} = 8,6$$

$$12 \times 10^{-1} = 1,2$$

$$66 \times 10^{-1} = 6,6$$

$$56 \times 10^{-1} = 5,6$$

$$90 \times 10^{-1} = 9$$

$$82 \times 10^{-1} = 8,2$$